UM-29 INSTRUCTION FOR STABILIZER (FOR ULTIMA)

To prevent rolling of body, you can use stabilizer, which ®Effect of Front j'r'nu can gel high straight running
is adjustable without changing spring grade according to Installation in leaning of under stair.
ground condition and grip of your tire.

®Effect of Rear You can grade up response of
Installation * steering wheel against cornering

force at high speed.
(INSTALLATION OF REAR STABILIZER>

M26 %6 Bind Screw
M2.6x6 Bind Screw __Rear Shock Stay

M26x12
TP Screw
(Indcluded in Kat)

M2.6 Nut

Rear Stabilizer

Stabilizer .
Stopper

M2.6 Nut

"ih‘#-"'-‘», M2.6 %6 Bind Screw
M2.6 Nut to settle them
when you don't attach
side guard.

M3x3 Set Screw

Stabilizer
Pivot Ball

Rear Sus. Arm = ; w M2X10----e---e Screw 2 pcs
Stabilizer End Ball w M2 fx6Bind TP Screw....

- . -2 PCs.
Stabilizer Links(L) m M3x3 Set SCrew «c--------

JANSTALLATION OF FRONT STABILIZER> . 4 pes.

M26xb Bind TP Screw
M3x3 Set Screw

Stabilizer Pivot Ball (S)
Front Stabilizer (:? Stabilizer Link (S)

2x 10 Screw

$4.8 Flat Head Screw Ball

“ #% Install left side same

Front Bulk Head way as right side.

Front Sus. Arm




